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(i) Data Sufficiency
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SECTION - A o
Analytical Ability
F3RE Wy
Marks : 75
‘.’wd:zru =75
(Marks : 20)
(3r&p e : 20)

.Note : In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an

appropriate choice from (1) to (4) as per the following guidelines :

(a)
(b)
(0)

(d)

Mark choice (1) if the statement I alone is sufficient to answer the question. -
Mark choice (2) if the statement II alone is sufficient to answer the question.

Mark choice (3) if both the statements I and Il are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

QeSS 2 1008 20 DEH 2RO (DB (DS 28 (0%, oD (808 L [T e Hiehes Ko
So [HRdsres dgroforr aigagron. 3VYO 38207 SVA*NoW, AW
ERSre (S ey adyohd Vorgares weratr Tar ©d
Dg"’boc'é’). &3 Z)g*dcaé (Bod ‘é}vgéégé rlerw GarAow (1) wod (4)
DEH V0 vad e Jod¥ Fahod.

(a)

(b)

(©

(d)

| RS VEredo ad)od® ©HSho 1 rED Duoghbond & warw

(1) e (1)_6901‘50&.

[2H) S Vargroo ad)od [HHSho 11 dr@d DoegHE o azared
(2) e HB0508.

£ S Vargrbo ad o @hssres I 1T Lo Dorgvoy wos®
2 28 8 &rae Vovgno SEIE D 2w (3) M HhoS0s.

[PHH Vargrdo adyodd @DhSorw I 1T $ed Srae doegho s°¥
S0 $e0H0 RIS b e (4) M HBoSod.
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1.

Is m a divisor of n ?
n 8 meralor?
g m is the smallest prime such that 9 m > 8.
m &30 9 m > 8 ©Gdgtrod EJY (DFR Doy,

II. nisan odd integer.
n2.¥ 2 Yroro¥o.
0

Do P, Q and R lie on a circle ?
P, Q,R e 28 D)o sobrabe ?

L. P, Q lie on the circle and PQ passes through its centre.
P, Q w 2.8 H)go Godwe, PQ &= So(o Hoae Fhod.

I APQR is right-angled.
A PQR wo&sSabo.

If p (x) is a polynomial, is x + 3 a factor of p (x> +2) ?

P () 28 052008 wadd p (2 +2) 8 x + 3 2.8 s*Sero¥dr ?
L p(3)=0

L p(1)=0

If x is an integer, is 9+ 9" =b ?
.Y 9 —X =
X RrgrodRDd 9"+ 97 =b eYdoae ?

L 3 +3%=qb+2

IE. x>0

In AABC, if D is the foot of the perpendicular drawn from B onto AC, then what is the
area of AABC ?

AABC &* B%0D AC & A0S wow %o D vad, ey AABC Fego dod ?
L. BD: - AC=20
I[I. ZBAD=45°

What is the value of k with 56 <k < 66 ?
56 <k < 66 e9Gbgén k Deod 2O ?
L k leaves remainder 1 when divided by 2.

kQ 2 & grhoSm HI) Fo 1.

1. k+1isdivisible by 8.
k+1Q 82rAod.
3 3 P.T.O.



10.

11.

12.

13.
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Is n a prime ?
n 2% (Do vogrg ?
L. n leaves remainder 1 when divided by 6.

n2 6 & grid 5Ty Fo 1.

I[I. nleaves remainder 7 when divided by 91.

n 91 & A DTy B0 7.

Can we construct the AABC with sidesa,band ¢ ?

gheren a, b, ¢ 3OS AABC Q 38@0&60&? ?
L a=3,b=4
[I.  The perimeter of AABC is 18.

AABC zﬁ)%» o 18.

What is the average of the numbers a,, a,...... a7
2y, gpeney 81 © WORO O ?

. a,ta,+..+ta;,=810

IL a,+tag+..+a,;=90

Ifa #b and c # d, what is the value ofm ?

2 2
a: d7 DedD 0 ?
il

atb c¢+d

L g=d Yah

II. ad#bc

azb,c#d o&

Can we find the orthocentre of AABC ?
AABC 8 wo —550@50 ST KOS ?

. AB2=AC?-BC?
. . AB+ BC + CA = 100 cms/200.50.

If p(x) is a polynomial, is 2 a root of p(x) =0 ?

p(x) 2.8 IP0N0 wowd p(x) =0 8 2 28 Wwrede ?

L ph)=2
L. pp(1)#0

o 0.
: ' e — 7
What is the valueof ————?

Xy

2t b

X = Deodh Jos ?
Xy

. x:y=1:2

I sysz=2:3
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14.

15.

16.

17.

18.

19.

20.
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What is the volume of the cylinder ?

‘é}?‘&)@ 00,0 o ?

. The height of the cylinder is 3 units more than its radius.
WY o) @R &g o E08 3 chrdty JED.

II. Two identical spheres of radius 3 units fit into the cylinder.

| 3 oy argdrgo e Bodh VEGURTR feren & W0t pySom sandero.

For real numbers a and b, what is the value of 7a + 4b ?
RO bospgu a.b 0% 7a+ 4b Deod doe ?

E ab#0
I. a*+b>=0

What is the value of sin 26 ?
sin 20 Qe 0o ?

I sec 8 + cosec 6 =4
I[I. tanO+cotb=4

For non-zero integers a, b, ¢, d and p, is the product (ap) x (bp)® x (¢p)® x (dp)* a positive
integer ?

W) S Yrgrostw a, b, ¢, d, p o w0 (ap) X (bp)? X (cp)® x (dp)* SSYrgroLaw ?
k a<c<p<o0

II. b<d<p<0

For positive integers x and y with xy = 30, what is the value of x +y ?

GR3yrgrostes x, y eo xy =30 @diggnoé, oDl x +y DD oo ?
%

1. Bt =

Il x>y

Is the matrix A singular ?
0|88 A oJrgrdear ?
I. A is a 2 X 2 matrix.
A 2x2 ‘éﬂ@é.
[1. The sum of the elements of the matrix A is zero.

(88 A &' drreste Swe&o inavl.

What is the number of zeros at the end of the number n ?
Dopg n VHOS* G0G I Vowg 2B ?

fi 28 divides n.
na 28 e,)‘ﬁ‘_’“nno@.
[I. 53 divides n but 5* does not divide n.

nQ 5 2 Aod 570 n J 5 rAowd. -

5 > P.T.O.
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(ii) Problem Solving (Marks : 55)
Qg D (Brdp e : 55)
(a) Sequence and Series (Marks : 25)
wEdre, @rves (B e0 : 25)
Note : In each of the questions numbered 21 to 30, a sequence of numbers or letters that

follow a definite pattern is given. Each question has a blank space. This has to be
filled by the correct answer from the four given options to complete the sequence
without breaking the pattern.

S5 (D)oo 21 208 30 DS Ko (9B DHS W 2O Vopges mI wiorw M 2.8

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

[EDag@d Jophrd) SrdpImo. (23 EHER O 2D e dR)sU
208 %0 b =T JNE eRED Jabrds Forfo Eenii$oa Jrdowrd.
S G o ) "

(1) "B 2) D 3. F 4 H
TSR:IHG:: WVU :
(1) FED (2) FDE (3) DEF (4) EFD

1973 : February 28 : : 2016 :
1973 : D0 28 ::2016:

(1) January 31 (2) February29 (3) April 30 (4) December 31
22550 31 (D0 29 A 30 dwob 31

\Jo+214,1[7 +/58, 4[5 + 2415, 3 ++/62,

(1) =8 ) V10 3) \J1++61 @ 5

16GH61TS, 25EF52VU, 36CD63XW, :
(1) 49AB94ZY (2) 49BAY%YZ (3) 49AB94YZ (4) 49BA9%4ZY

336, 210, 120, 60,

(1) 54 () 44 (3) 34 4) 24
B.A.D,E,F,1,H, JJu
.o 2) E 3) A 4 1
14, 22, 32, 44, 58, ,92
ay (2) 74 3) 76 4) 78
1G5k 19U 23
) BLEIS (2) 15Q17 (3) 13017 (4) 13815
2085 i |
510 26 122

8 7 9 7
M & @ 33 G 3 @ 3o
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89

Pune
4 A7)
(5,9, 28)

X+ 2x+1

21

21
182

VRN

2
1463

75
18, 15),

(28,23, 19)

01111

3.

1001

—_—

1

52RD61
Note In questions numbered 31 to 35 pick the odd thing out :
Bo0% : 31 08 35 D8 o [&Jéloc‘z”‘ VOB tHB 0TI :
31,01 @y A (3)
32. (1) Chennai (2) Chandigarh (3)
3, $085n6
33. (1) 3,7, 30) " (2) 4,8,29) (3)
34, (1) 42+4x+8 (2) 4f+ax+1 (3)
35. (1) 1N4 2) 1S9 (3)
Note :
‘ fill in the blanks with suitable answers.
BN :
900D HOAHH Darerared’ grdu Yrootod.
36. - 1,3. 6, 10,15 ,28
(1) 16 (2) 19 (3)
37. 2,10,26,82, , 730
(1) 102 2) 132 (3)
38. BFJ, EIM, HLP, KPS, '
‘(1) NVR (2) NRV (3)
1 6
39, 1119- 123, ]42? . w200
6
(1) 156'?/‘ (2) 167’7‘ 3)
40. 27,48, . 108,147, 192
(1) 63 (2) “12 (3)
41 (3.4.5),(6,6,6),(10,9,8), (15,13, 1), 21,
(1) (27,23,19) (2) (27,24,20) (3)
42. 00011,00110.01001,0]100,0]l]l,
(1) 10110 (2) 10010 (3)
43. 3,6,11,20, , 70
- 28 2) 32 3)
0 28 126 344
S R T YR
730 513
(1) 10 2 9 (3)
45. 5, 15, 30, 50, , 105
(2) 80 (3)

85

(4)
(4)

(4)
4
4)

(4)

4

(4)

(4)

(4)

(4)

4)

(4)

4)

4)

B e

Patna

| ey

(12, 6, 36)
¥ +4x+4

2:X5

Each of the questions from 36 to 45 follow a definite pattern. Observe the same and

36 208 45 D Ko PHes 28 PRSI AP BT Y. & Py

P.T.O.
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(b) Data Analysis (Marks : 10)
S8°0% Qéﬁes : (drdp 0 : 10)

Note : The following table gives the profits (in lakhs of rupees) on four items A, B.Cand D
manufactured by a company during the financial years 2010-11 to 2014-15. Using the
table answer the question with numbers 46 to 50. :

HoR : 28 S0 Saprdh TY b SpYew A B, C, D up Q¥ Vongyoren 2010-11
Do 2014-15 H3H AP orered (VEY Srarabe®) 808 adyd DEES”

oD H. & ‘éJ%’?é{m &DGIPA0W [(PHeo 46 o) 50 HES Ko [DHod savw

ORgod.
Financial Year
0¥ Jonsydo
2010 11| 2011 — 12| 2012 -13| 2013 - 14 2014 - 15

Items
DR

A 375 400 450 425 450

B 525 500 550 575 550

& 225 275 325 350 375

D 475 525 475 550 625

~ 46. On which item the profits are increasing year by year ?
DodE 8o Sumgd DondyBo ) Srdyw orgres DR damyon ?
1 A (2) B : 3) C 4 D

47. Taking the total profit during the financial year 2012-13 of the company what percentage

of profit is earned on the item A ?
2012-13 ©9% DobE B0t K08 DU o orgfos® S A D DAY wrgfo

2o TS ?
(1) 20% (2) 25% 3) 30% 4 35%

48. What is the percentage increase of profit on item B during 2012-13 over the previous year ?
Hpd B P 2012-13 &° DR 7o ©od% ok VoY wrefo SoB Whbde
TS0 ? '

(1) 30% (2) 25% (3). 15)% 4) 10%

49. Which item has given maximum profit in all the years put together ?

) VOSSO ey’ 0dds orgrw ©0B0DH DY 20 ?
(1) A (2) B 3 C 4 D

50. Which item has the reduced profit compared to previous year twice during the five years ?
&1 0 LodSYTrG® @ BYY w0 Sothrdh wod® (8o Vond)d wrdo S ),
SEn o &od ? ‘ :

()i @ B (3) € 4) D
8



https://www.freshersnow.com/

52RD61 A

Note : The families in a colony are categorized into six groups A, B, C, D, E and F based on

the income of the family. Their distribution is as given in the Pie chart below. Use this
to answer Q. Nos. 51 to 55.

K500 : 2.4 590D Hitvowre earabo wgrdom A, B, C, D, E. F o3 e Dtwrdteon

51.

52.

53,

54.

55.

Fdh. v SHvowre e 80d FRWED V" TS FoBT . &,
&HAA0D 51 DO 55 HIH e @DHUD amw@ém&.

What is the pércentage of E category families in the colony ?
5ot E S0R0 Hévoare 3780 o ?

(1) 36% 2) 25% (3) 20% 4) 15%

If there are 108 families in category B, then what is the number of families in category E?
B S&N0 Hévoare voyg 108 wand F 600 Hivoare Lowg Jod ?

(1) 18 (2) 36 (3) 54 4 72

_If the total number of families in the colony is 720, what is the number of families in

category A ?
$0dS* Fwdo 720 Hevowrenod ©oHS® A F6n0 Hevoere Vowg I8 ?

(1) 120 (2) 108 (3) 96 4 72

If d and e respectively denote the number of families in the categories D and E; and if
d =ke, thenk =
d. e eo HEOT 28R D, E v &° Hivowre Lowgen @ d = ke owd wiyyd

kK=

10 8
(1) o 2 3 3)

9

@ To

oo |

If the category F has 10 families, then the total number of families in the colony is
F20A0S 10 Henoeres 608 8 SPudS’a o Hivoare Vowg

(1) 360 (2) 240 (3) 200 (4) 80
9 ' P.T.O.




(c)

56.

57.

58.

59.

60.

https://Www.freshersnow.com/

52RD61
Coding and Decoding Problems - (Marks : 10)
880k, G8°@0h Tvgew (g e : 10)

Note : In a code the n" letter in the English alphabet is coded as the ™ letter of it, where r is
the remainder when 3n + 2 is divided by 26. For example, the 7™ letter G is coded as W
since 3.7 + 2 = 23 and W is the 23" letter; the 8" letter H is coded as Z since 3.8 + 2 = 26
and Z is the 26" letter in the alphabet. The reverse process is used for decoding. Based on
this coding and decoding answer Q. Nos. 56 to 60.

HRE @ 2.8 BES® nofiid wEEreS’d n D vfoed) rd wgdon §'6 I ag
r o3 3n+ 2926 T rhodme DT FR0. GErdrdnd, ES85rad®d 75 effo G
W 886 S, Jogod 3.7 + 2 = 23 uihod, 23 S oo W; wérd 8 S vfdo
H & 88 0%80 Z ©9)%008, 52860 3.8 + 2 =26 &S50, 26 D 6F¥0 Z 8obo. € 283
86° Kn0S® A a0R T, & §'Goh, G8°G0R DES WHADNOW 56 Wod 60 DD
Ho (%o 2amedngod.

The code word for TELANGANA is

TELANGANA 8 §°& %0

(1) JQLREWERE (2) JQLEWRERE
(3) JQLEWERER ; (4) JQLERWERE

The code word for NAVYSHIP is
NAVYSHIP & &G {eso

(1) REPYGZCX (2) REPYZGCX
(3) REYPZGXC (4) RPEYZGCX

The number of letters in the alphabet that are coded to themselves is

eitired® ) viored §'G vgbo of epHod 2

(1) 0 2) 1

3 2 @ 3

The word coded as XQRKCL is

XQRKCL r~ §°& Sabad@d Do

(1) SANTRO ) (2) HOCKEY
(3) LAYOUT (4) PENCIL

The word coded as OUMGQ is
OUMGQ r §°& Bohaadd Do

(1) USAGE (2) -UNCLE
(3) MONEY (4) MOUSE

10
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61.

62.

63.

65.

If GATE is coded as 10042308, then the LURE is coded as
GATE o3 Hard) 10042308 m §'6 33 © §°GS° LURE 8 §%G
(1) 15212108 (2) 15241805

(3) 15242108 (4) 12182105

If GALAXY is coded as PXIXUV, fhen code word for STAR is

GALAXY & §& PXIXUV sovd STAR, §°G 20

(1) PQXN 2) PQXM
(3) PQXO @) PQOX

If TABLE is coded as SZAKD, then the code for HOUSEHOLD is
TABLE  SZAKD rr §& 33 HOUSEHOLD 8 §°G 2o

(1) GNTRDGNKC (2) GOUSEGOLC
(3) GOUSDGKNC (4) GNTSEGNKC

If COMPUTER is coded as OCPMTURE, then the code for POPULATION is
COMPUTER & £& %0 OCPMTURE @o»@ POPULATION 8 §°G xS0

) OPPUAILTON (2) OPUPALITNO
(3) OUPPLATION (4) OPPALUTION

If PLACEMENT is coded as MIXZBIBKQ, then the word coded as JLRPB is

PLACEMENT & && %0 MIXZBJBKQ @o»d JLRPB  §°6 eand 1o

(1) MONEY (2) MOUSE
(3) METER (4) MOULD

11

P.T.O.




(d)

66.

67.

68.

69.

70.
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Date, Time & Arrangement Problems (Marks : 10)
b, Hoabo, wdddy Vdgew : (dr8pe0 : 10)
If today is Sunday, what day of the week was it 124 days before ?
& B 008D 124 Sare twotd e T80* Q FELHHR ?
(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

w0 woiFardo 3o Hhhardo
A clock strikes once, twice. thrice, ..., twelve times at 1, 2. 3,...., 12 O’ clock and once at

every half-an-hour. The number of times it strikes between 3.05 am to 11.55 am. is

P& KBS0 1, 2, 3o 12 oLy SEOM 2830, BoHIEH, BB, ...
X)Blodoé'ga Kobew Sher; (L& c—sgﬁoéoé) 2,¥ Kot héhod. u éabrdo adabo
3.05 LoD &iabo 11.55 D8% le?ﬁoéaén £°%&08 ?

|
(1) 81 (2) 69 (3) 67 4 63 |
|

Four cars A. B, C and D start respectively at 9.30 am, 10.30 am, 2.30 pm and 2.45 pm and
reach their respective destinations at 12.15 pm, 11.45 pm, 9.15 pm and 8.30 pm same day.
The car which travelled for short time is '

Teth 2% A, B, C, D @ LEL &Sabo 9.30 Hobe®, adabo 10.30 HobeD,
Dgrgimo 2.30 Hobed, Wwergdmo 2.45 Kobed wabesnd a8 Havg gvav'o& ,
HEHm of &% oo 12.15, 1145, 9.15, 8.30 Kok I, ES° o8 S
(2ofrea0 Hh 5B ‘

(1 A L) =R 3) € 4 D

A is the daughter of B; C is the brother of B, and D is the mother of C. How A is related to
D?

B &A %43 B8 C %N, C 8D &Y. D3 dgorr Aozokonod ?

(1) Maternal Uncle/shasrm (2) Paternal Uncle/zrero»
(3) Granddaughter/sySmores 4) Grandmother/@‘é}&‘b&

Reaching the venue of the meeting at 8.13, a person R found that he is half-an-hour earlier
than the person Q who came 40 minutes late. The scheduled time of the mecting is

2.8 DhrS|Sroers 8.15 8 0% 2.8 Hg8 R. 40 Jbwares woigonT WErREE8 DIYO
Q %08 edKod 2och DWW Ko, Bhraio [Frdodl Sabo

(1) 8.05 (2) 8.10 (3) 8.15 (4) 8.45

12
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71, ‘

72.

73

74.
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Three doctors A, B and C have consultation schedule as follows :
(i) A —Tuesday and Thursday — 12.00 noon to 4.00 pm.

(1) B — Monday, Thursday. Friday — 10.00 am to 2.00 pm.

(iii) C—Monday, Wednesday, Thursday — 9.00 am to 2.00 pm.

The day and the time slot at which all of A, B, C are available is

A, B, C o3 toitpth @o§8 E0)IBUS Seren, Vdrabo 808 Jon™ eamyav.

(i) A- 'éa)om? O Trore — %mcrgmlo 12.00 o Jrado(go 4.00 DB

(i) B-—&%, thh, H|E srores — &Saho 10.00 oW Wwergmyo 2.00 DEH

(ifi)s C — T, 2, O aroren — &dado 09.00 Do ‘équ'zga’r;_o 2.00 8%
&8 HAe EOD é‘égé&Sé &0G 0%, UHabo Dhores

(1) Monday 12.00 noon to 2.00 pm/F*Dardo, Wergamo 12.00 WOW VG0
2.00 D85

(2) Monday, 10.00 am to 12.00 noon/*a~do, &dabo 10.00 oW WEgImO
12.00 H5% '

(3) Thursday, 2.00 pm to 4.00 pm/tHSHaeSo, é)qr'si’d'lo 2.00 oW Jrado(do
4.00 DEH

(4) Thursday, 12.00 noon to 2.00 pm/tbha=do, Erga)0 12.00 oW WErgR™ o
2.00 8% -

Five persons A, B, C, D and E sit in a row on a bench such that D sits between B and E. If
C and D are not together, the persons sitting on either end of the bench are

2O HgHes A, B, C, D, E e DB~ 2.8 wgp B, E o 23S D oGy
LT, C, D w 280 (DS 288 SHo8 v ay adBye SPE)R) DgHew

(1) A,B (2) B,C (3) :C: A (4) D,E

For real numbers x and y, if xoy = x + y — xy, then the number of distinct real values of x

for which xox = 1 holds is
e Dowges X, y &% xoy = x +y - xy ea@ xox = | eddetnod JDW) TS Vowges

X }(Jozgg

(1) o ) 1 (3) -2 (4) 3
IfELF=(E+F)+(E-F)?and
ETF=(E+F)—(E-F). then

cgilely=
ELF=(E+F)+(E-F)?, ETF=E+F}—(E-FPowsd 315T2l3)=
(1) 5616 (2) 5876 (3) 5926. (4) 5986

1 :

pr=]+‘:l):+%+,__.ooandq=]+%+?+....°°.thel]p_l:f'=

Je=il T bl ptq_
p=1tp+ost wusq=lhatogs wod e

7 7 2] - 25
(1), @ ¢ @ 3 o S

838 s SN o

Xx

-
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SECTION-B
Mathematical Ability
Heds é‘&gsé
Questions : 75 Marks : 75
[DF)e0 : 75 ardyes: 75
(i) Arithmetical Ability (Marks : 35)
wo¥ifeds é‘ﬁ)ggé (Brdop.en : 35)
76. 1f2¥=4Y=8%and xyz=288,thenx+y+z=
2% = 4Y = 82 Bafn xyz = 288 @ONNYD x +y +Z =
(1) 72 (2) 48 (3) 36 4 22
_ L e oL -
7. Sy =0 =
UX}’Z :
(1) 4 (2) 2 3 3 @ 0
78. a:b=2:5=>a2—ab+b2:a2+ab+b’=
(1) 17539 2) 19:39 (3) =313 39 (4) 18:39
79. There are 450 coins, in a bag, of denominations ¥ 1, 50 p and 25 p. The ratio of their
values is 2 : 3 : 4, then the number of 50 p coins is ‘
&, 1, 50 Poew 0k 25 Poew 450 Do TBw 28 LoDS® ¥0d). 38 dede S
2:3: 4. sy 50 Poo S B VoY
(1) 100 (2) 200 3) 150 4 250
80. 10+ 246 +2[10+ 2415 =
1) B+3+5 @ 2+\EHEE BHNErE @ 25345
e L s M
©1z-23 \f8-215 \10+ 2421
) 23 @ 25 @) 27 4 0
82. The greatest integer having five digits and is divisible by 137 is
esandoBen XOR, 137 B wrRowad Y Yrgoso
(1) 99873 (2) 99862 (3) 99877 (4) 99973
83. The largest three digit number, which when divided by 3 and 8 leave remainders | and 3

respectively, is

3. 8 o3 rAoVSYD HTY Farew dV 1, 3 eabgtd) W woSY Ko% Vowg

(1) 993 (2) 931 3) 979 4) 955
<14
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84.

85.

86.

87.

88.

89.

90.

91,
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Traffic lights at 3 junctions A, B and C change every 15, 25 and 30 seconds respectively.
If all the lights change simultaneously at 10 a.m., when will they change together again ?

S Erde) A, B, C o S5 (&6 Bty SErm (03 15, 25, 30 VES Erdoeman.
o) Bév &. 10 KobeH 2870 Sr0d &@Q RS 28970 Hrderay ?

(1) 2 min 30 sec past 10 a.m. (2) 2 min 20 sec past 10 a.m.
6. 10 50.2 Q.30 . ; 6. 1050.20.20

(3) S min 10secpast [0am. - (4) 5 min 20 sec past 10 a.m.
&. 1050.5. 10 . 6. 10850.50.20

The ged of two numbers is 23 and their sum is 184. Then the two such numbers among the
following are
God Vowge M.30.2 23, orél Awdo 184. YW ©wrod o < «JO&)SCD (808 a8s*

(1) 69,112 (2) 46,138 3) 69,115 (4) 46,124
3
In the decimal representation of the digit in the 25" decimal place is

23—2 G &7r0% ARBS® 25D &7°0% g'éodcb ©0S

(1543 () 6 & S 4 4
_n-"H
EECEIE
3 3 3 ' 3
M 7o 2 3 () 37 ST S

Ifx=7Y\3+ \/3 + \/3 + ..., then a true inequality anﬁong the following is
=\3+3+3 +... owdF 808 8 VO LVhrod

(1), "1 €x<2 (2) 2<x<25 B 23<x<3 4 3<x<4

The cost price of an article is ¥ 800. Its marked price is ¥ 1,060. If the shopkeeper suffers
a loss of 12% on its sale, then the discount allowed on the article (approximately) is

2.8 DY) SN &8 e 800. o (LSS o &r. 1,060. Hsterardd @ DIYW
oS’ 12% vl FodE & HIYP sDHBDD ERoR) (k)

] 1 1
(1) 305% (2) 375% 3) 335% (4) 35%

The present population of a city is 9075 thousands. If the annual increase of population is
10%, then what was the population of the city (in thousands) 2 years ago ?

28 VO@o (DS I 9075 Jeo. VoDEYTAE 10% Ty =Y WSHH&HoB
20008 07w (880 @ VYo 2 ESSp)
(1) 7800 (2) 7500 (3) 8500 (4) 8200

If 16% of a property is worth ¥ 3.52 lac, then 50% of the property is worth (in lacs of rupees) is
2.8 @S 16% o308 &r. 3.52 viv Juwdd £On 60&3 eR)E 50% 6 Jeod (Vv

61"@“0:{)0) :
(1) - 22 (2) 18 (3) 16 4) 11
15 J P.T.O.
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93.
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95.

96.

97.
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The cost price of 10 articles is equal to the sale price of 12 of the same articles. Then the
outcome of the transaction is

10 Spe §%) $6 63 12 5o eigo 88 Virdo. & orardad’ Hddo

2 2
(1) 163 % gain/e~2fo ) 163 % loss/Sx0
2 : 2
(3) 83 % gain/ee2Jo (4). 8'5 % 1ossf¢’a§o

By selling two articles each at ¥ 480, a merchant gets a profit of 20% on one and loss of
20% on the other. In the total transaction the merchant gets a
2.4 Hseerard Gokh SaPHud 2.8Ha) e, 480 0B waEo DYy a8 @ 20%

orgrd) Fosm D8I 20% VIR o, i B0 rTBNS’ DSOS
DB

(1) 4% loss/~g0 (2) no loss no gainfé’ézo T orgo BH

(3) 5% loss/oa0 (4) 5% gain/ergio

Two persons A and B started a business investing ¥ 3.5 lacs and ¥ 6.5 lacs each

respectively. After 6 months A has withdrawn from the business while C joined by
investing T 7.5 lacs. The share of A in the year-end profit of ¥ 2.4 lacs is

B HgHes A, B 283 H B DBV &r. 3.3, &r. 6.5 oo PRWEE 2.8 TrgFo)
(80§00 6 Jve Sthard A argardo Wwod IV & 7.5 oiv DudE
C Fo%. &r. 2.4 o Doddorod erFod’ A e

(1) T35,000 (2) ¥ 45,000 (3) ¥ 55.000 (4) 75,000

A person A starté a business with some capital. After four months B joins with a capital
60% more than that of A. The share of A (in ) in the year-end profit of ¥ 6,20,000 is

§08 o WGE 2.8 Dg8 A o8 g0 (FE0ROT. 4 Svu Shard A §9)
60% Jnd VPEE vEIF B s, VodE)orod orgo &r. 620,000 o0&’
A e (& o8

(1) 3,10,000 (2) 2.70,000 (3) 3.00,000 (4) 3.20,000

Two pipes X and Y can fill an empty tank in 18 min and 24 min respectively. Both the
pipes are opened. After some time X is closed while Y is continued till the tank is filled. If
the tank is filled in 12 minutes, then X is stopped after ,

Both e X, Y e 28 3o ® FE DEom 18 3. 24 . o® JodiieR). ok PYUD

80w, FRVNES Shard X W Y v wr@o &Y Jod HB% 80T &o0. &S
12D, 06 DoGES, X D oSV Sthad QS0 ?
(1) 6min/d. (2) 9 min/Q. (3) 8 min/Q. (4) 10 min/D.

Taps A and B can fill a tank in 3 hrs. and 4 hrs. respectively. Tap C can empty the full
tank in 6 hrs. If A, B and C are opened simultaneously, then the tank will be filled in
2% &R Toth dgres A, BT 3 fo, 4 Ho.o&® Dosiug. o Qo ¢l EEC o

Ser 6 HotrS® @ Babifetd. A, B, C 02 2330 B0 &G 00S ép wdabo
1) 120minD.. (2) 140minD.  (3) 144 min/ 4) 160 min/Q.
16
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98.

99.

100.

101.

102.

103.

The speed of the train (in kmph) of 180 m long which crosses a bridge of length 120 m in
15 seconds is
180 &. &Y e 2.8 Beo 120 . D&Y e 28 HoBED 15 V8RS’ o688 © oo Stfo

(S06% 8.3, oS
(1) 36 @2y 72 (3) 45 (4) 63
A starts from P at 6 a.m. and reaches Q in 4 hours. B starts from Q at 8 a.m. and reaches P

at 10 a.m. At what time A and B meet ?
P 208 &. 6 fobe® wahesdod A 4 Kobd® Q & J0. Q Woé &. 8 Hobed

2aHesd0d B &. 10 fobu P & T30, ) Hobe® A, B e Seodh ?
(1) &.840am. (2) & 830am. (3) &.900am. (4 @& 930am.

A can do a piece of work in 12 days and B in 16 days. After working for 4 days with A, B
leaves the work. The number of days required to finish the remaining work by A alone is
28 02D A 12 e’ B 16 e’ Sobied. A & 4 eres DITE B DIV D00

Foy%. A 28d DNOS LIV JabeD Ly Bare Lowg
(1) 2 @ 3 @ 4 @ 5

A, B and C together can complete a piece of work in 30 days. A takes twice as long as B
and C together take to complete the work while B takes twice as long as A and C together
to complete the same work. The number of days C alone needs to complete the work is

A, B, C e %o 28 DI 30 8%¢® Lro dabied. B, C w Sed © FOANIRY) )

oo HF Bhabo £5) 3goy Vivcho A SdHoerd st A, C e E0 o3 DA
Lr0 dabe B vhabo £5) Tgo) Vabo B SHotrd. C 288 e DA Yo
JaheH 1 e Dowg

(1) 90 (2) 85 (3) 82 (4) 78

747 ; AN : .
If the area of a sector in a circle is 3em and if the radius of the circle is 7 cm, then the
sectorial angle is

V54
2.8 éaéoé":() Vg ITego 3 0.2 Do D) SgIrZo 7 200.5). o8 WSH
—o (] o 3 —o @ 0

&0
(1) 45° (2) 30° (3) 60° (4) 90°

The perimeter of a thombus is 40 cm and one of its diagonals is 16 cm. Then the area

- (in cm?) of the rhombus is

28 VhisHdyEd) HSed 40 0.5, 0ah @l JEgruS® 288 16 V0., By
© VSHD) STego (0.2 o) ;
(1) 48 (2) 192 (3) 96 (4) 64

~ 17 O
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A hollow road-roller 63 cm wide with circumference of 440 cm is made up of iron. If its
thickness is 4 cm, then the volume (in cm?) of the metal used is

63 0.2, Sbesy) A, LOY 440 0.D. &8 By Feh Fodh T P Thd. @D
D050 4 0.2, waHS A8 GDAPA0DS D& LWEHOSrH0 (Ro..2 )
(1) 97712 2y 107712 . (3) 107714 (4) 106612

The dimensions of a rectangular solid S are 4 x 9 x k. If the volume of S is the same as the
volume of a cube of side 6, then the value of k is

2.8 BF w00 S aE) Foden 4 x 9 x k. 26220 6 M Ho 2.8 OO0 DY) WSHODreO8
S PVNOETL0 WArHDE, k Desd

(1) 6 2 12 (3) 18 (4) 36 .

A door is in the shape of rectangle surmounted by a semicircle on its breadth. If the

rectangle dimensions are 10 ft x 7 ft., then the area of the cross-section of the door

(in sq. ft.) is :
¥ cs:gdo @éz‘_ us*do a8 666&336&‘60 3&@3’@ ed‘é')éo 23‘800‘(6@}’03_&

5(57:56.5)6@0 Soden 10 edhides X 7 eodkbides vand e crsdo énwibd STego
(3. o. &%
1.

- 89 . (_2) 87:11‘ 3) 892 4 87

A solid cylinder of height 6 cm and base radius 2 cm is melted and cast into a cone of the
same base radius as that of the cylinder. Then the height of the cone (in cm) is
6 0D D, 2 0. FPrargrdo o af PO Lrard) $8A0D Yrdo

aﬁra"sb*’dofee‘o VAR 2,17‘&‘53‘60 Ko SoHHm DS, BPYD © $0HH I
(0.2, o) |

() 9 (2) 18 £33 =21~ (4) 24

A cylinder is of height h and base radius r. If t denotes the total surface area and v its

volume, then 2_tv. =

28 00 A h, gfrargddo 1. t @ Dordde ITergd), v RO A
; ;

v

2 2 3 3 o 1
) FHg Q) L th @) %+ @)

The binary equivalent of the decimal number 245 is

&70% WrHoG™R) Vogig 245 & VEFSDS BL0Rrg WPR0S R Vog
(1) 1110101 (2) 11110101 (3) 11101011 4) 11110110

The remainder when 1727! is divided by 29 is

17771 % 29 B grrodbm Hb) o .

(1) 11 (2) 10 3) 12 4) 13 -
18

=l o
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(ii) Algebraic and Geometrical Ability (Marks : 30)

H2ah, wg&béoﬁ: DG (Brtpe0 : 30)
111. Ifp, q are statements, then (~ p) v (~ q) is equivalent to

112.

113.

114.

115.

116.

117.

P, q &0 B0 (WHBSSE, (~p) v (~q) & HegDHO

(1) p=>=q 2) ~p=>q 3) ~p=>~q 4 p=q

If p, q are any two statements, then ~(p v (~p A q)) is equivalent to
P. q & B0 WHBTEE, ~(p v (~p A q)) & EeeHOO

(1) ~@Pnrq) (2) ~pvgq (3) ~pA(~q) @4 p—gq
If A is the set of all primes not exceeding 20 and B is the set of odd positive integers not

exceeding 20, then (A-B) U(B-A) =
20 oo PErTrosty VDS A, 20 ol 5%0@30 Ve B owd,

(A-B)u(B-A)= :
(1) {1,9,15,19} ) §2,9915} By 2k 2,915} 4 {9,15}

3

If f(x) = log : J_r; and g(x) = % then f (g(x)) =
1 +x 3x+ 13
) = log T, 80 = g Q@ f (g(x) =
(1) f(x) 2) g (3) 3gk) (4) 3f(x)

If a set A has 4 elements, another set B has 7 elements, then the number of injective
mappings from A into B is

2.8 VD8 A &° 4 hrroste, D VDA B ¢F 7 restenod, A Dod B & Ko R
[BDasre Logg

(1) 920 (2) 840 (3) 120 (4) 720

The equation of the line passing through (- 4, 3) and is perpendicular to the line segment
joining the points (1,-3) and (-5, 1) is
Dot (-4, 3) thoa® &, (1,-3): (-5, 1) v DD T~ PoG=A; woworr Hod T

DarESeo

(1) 3x-2y+18=0 Q) 3x+2y+18=0
(3) 2x-3y+14=0 (4) 2x+3y+8=0

The equation of a line passing through the point (-2, 3) and making intercepts in the ratio
of 2 : 3 on the x and y axes is
Do (-2, 3) thoa F*Er x, y o5rew 2 : 3 AES* wodbvoarer T By

HDES 0

(1) 3x-2y+12=0 : @) 3x+2y-12=0
B) 2Zx+3y+12=0 4) 2x-3y-12=0
19 P.T.0.
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118. smzz+ smz')TwL sm27+ sm37=
1 0 @) 1 3) 2 @) 4
119 tan 40° + tan 20° -
" cot 45° — cot 50° cot 70°
I 1
-~ o) ~ i oL
12'0. tanA+sinA=p;tanA—sinA=q:>p3._q2=
(1) 2(tan’A + sin’A) (2) 2(tan*A — sin?A)
(3) ' 4 tan’A sin’A (4) 4tan Asin A

121. Observed from the top and foot of a tower 10 metres high the angles of elevation of the
top of a second tower are 30° and 60° respectively. The height of the second tower
(in metres) is
10 & & Ko 28 Lozfo 380, B0 Wod bR Tokd Yoo B0 S

30°, 60° &g S'eren Doy, Bodd Yoefo & (DOES) -
(1) 15 (2] TS 3) 20 (4) 225

122. x+y=z=x3+y> +3xyz=
(&3 -0 (2) -3xyz (3) 3x2y3z? @ 2

123. How much is to be added to (x + 2) (x +4) (x + 6) (x + 8) to make it a perfect square ?
(x+2) (x +4) (x +6) (x + 8) $ Qo LOVE wd HOPPE Do wHHd ?
(1) 4 (2) 8 (3) 16 (4) 20

124. f(x) is a polynomial that leaves remainders 6 and 4 respectively when divided by (x - 2)
and (x — 3). The remainder of f(x) when divided by x> — 5x + 6 will be
flx) &I 230HA (x - 2), (x - 3) ©B ROVEYD DB Fares HOHIT 6, 4. fix)
P-5x+63 a‘ﬁé ‘630 o
(1) 2(x+3) (2) 2(-x-5) (3) 2(-x+5) “4) 2x+9)

125. 1fx° — 7a* + 953 + 732 — 100 = (x2 = 1)g(x), then one of the values of a such that g(a) =01is
X =Tx 4+ 93 + Ta? — 10x = (32— 1)g(x) @@ g(a) =0 &dd dSorr oG ¥ a devd

(1) =3 () 5 (3) 4 LR
19519 6 . 15 B
126 s <y By ey Do ltIy=.
5 5 ST 7
G @) 3 G 3 4 -3
Xy "~ 8 Xy T
127. -\'+y_5’y—_\‘-6:>('\’ y)_
B8N (L
O 29 033 oG @3
20
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129.

130.

131.

132.

133.

134.
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The sum of the integers between 1 and 200 which are divisible by both 3 and 7 is
L, 200 2¢3g 3, 7 o&o8& w e Noda@ Yrgroste Mo

(1) 945 (2) 999 (3). 1327 (4) 1594
The third and the fifth terms of a geometric progression are respéctively the second and

the eighth terms of an arithmetic progression whose first term and the common difference
are both equal to 16. The first term of the geometric progression is

2.8 EG S 3%, 5% Daren HEHDm S Do, &G o Todr 16 M He
Go&’ ©0¥[EG 2%, 8% doren. e DEG S Heso
(1) 8 2) 6 (3) 4 (4) 2

e e 14C ., are in Arithmetic Progression, the possible values of r are
M, 14C, 0, w0 0SEES* HoB ¢ g dewdes
(])' 4,8 (2) 5.9 (3) 6.10 4 7,11

-\Nn
If the coefficients of x” and x® are equal in the binomial expansion of (3 + %) ,thenn=

-\N
(3 + %) B2 MBS v/, 18 & Mhesres VhrHDand n =
(1) 42 (2) 48 (3) 55 (4) 58

0 o 1
Lf:tA:[[3 0 ],OL#O,B#O.lfA-‘+A=0,thenaB=

A=[g g}.owo,[3¢Oe:’o)§‘oé§.A3+A=Oem»é‘,aB=

' 1 | .

1) 1 2 3 3) -5 g =1

| sin@ —cos® 5ge

f(G)—[ cos® sin@ ] Sl

(1) -f-9) @) f(§+e) 3) f@-e) 4) 1(0)
iy UEDEEQFBRIE 5+ 010 .

X .l_?lc 100 +xl() i o

@)y 0 (2) 1 3) 3 4 5
i fcosxtsinx) dy

y = tan”! (cos X sin_\') =

(1) tan3 ) tanx g @ 1

21 , P.T.O.

"“
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136. If /| and /, are parallel lines, then x =

137.

138.

139.

140.

I, 1, &» V&ro 8 Tpeawd x =

z

I,
/L/Z\“’ 6

(1) 30 (2) 45 3) 60 : 4 75

In the adjacent diagram ABCD is a quadrilateral; E and F are the foot of the
perpendiculars drawn from B and D on AC. If AC = 8, EC = 3, BC = 5 and area of
ABCD = 20, then DF =

(2% Doo&* ABCD 2.8 S&Hyzo. E, F e, B, D © oD AC 2 ADS cow Farew.

AC =8, EC =3, BC =5, ABCD 3%°¢,g0 =20, eso»d DF =

3
D rc

) .1 2 2 . (3 3 4) -4

P, A, B are three points on a circle and PT is a tangent to the circle. If ZAPB = 45° and
ZTPB = 60°, then ZABP =
28 DFod P, A, B w wrd DodhiPes. H)grd8 P DS ADS 088w PT.

ZAPB =45°, ZTPB = 60°, son& LABP =
A

45°
605

P T
(1) 45° (2) 60° (3). 752 (4) 90°

The radius of the circumcircle of the triangle with vertices (0, 0); (4, 4) and (0, 8) is
Bgren (0, 0), (4, 4), (0, 8) > Ko (Babes DOHYS agFgo
M 2 @ 22 (3) 3 @ 4

The coordinates of the point on the y-axis which is equidistant from the points (7, 6) and
(-3,4)is
y-©%0 ab Yot (7, 6), (-3, 4) © Dod Vard Srdos* V) Dothy rdsten

(1) (0.0) ) (0,-25) (3) (0,-15) 4 (0, 15)

22
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(iii) Statistical Ability A (Marks : 10)
3‘095578"_’@7 @%oggé (:S.Tb&)z_w : 10)
141. The Arithmetic Mean of the following data is
(508 Serom 8 wo¥ é)égbo
X 1 2NN = T 25
f 1 75 B 3% 25
d) 17 (2) 21

142.

143,

144,

145.

3) 23 4 27

The median of the following frequency distribution is

808 3"26:?{3):65 2T 208 é)d_ﬁgﬁéo

x [ 15.0 17 |20 { 22 | 25 | 30
f 1 S .10 125 8 4

H: 17 2) - 20
3) 22 ‘ (4) 25

In a frequency distribution the Arithmetic mean is 50 and the median is 52. Its mode is
2.8 Q‘E’Dsb’g)ég aRT° 2300 eoé@ég&ao 50, eSgido 52. @ erdrogiEo

(1) 51 (2) 53

3) 54 (4) 56

If the Standard Deviation of n observations Xy, Xy,..., X, 18 17, then the Standard Deviation

of 2x, - 15, Zxy=18, o0, 2x-—151s
X)5 Xpaeen X, ® 0 DOFDL (ED DSedo 17 wawd 20— 15,26, - 15, ... 2x —~15'&
(BJBeno

(1) 34 (2) 49
(3) 54 (4) 59
The sum of 5 observations is 25 and the sum of their squares is 145, The standard

deviation of these observations is
5 D03ude W0 25, 56 Hore o 145. & DOZUSL (EDDSed0

(1) 202 @ 2
29 29
i @ A5
23 ’ ' P.T.O.
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The rank correlation coefficient of the following data : t
(Bod Sgrom8 &568 Lirho0d (he¥o ¢

B2 k4 s : |
BEaE REEE LA

5 6 |
(53 @ 7

1.0 il
55 @) 29

Out of 100 consecutive positive integers two are chosen at random. The probability that
their sum is odd, is

100 HEOSQ S &) & Yrgroseed’ Godos O yyEom )BT o3 Ao

232 vowg eadg WoeTRgE

1 49

51 50 '
G) 99 4 99 . ”

Three vertices out of six vertices of a regular hexagon are chosen at random. The

probability that these vertices form an equilateral triangle is
28 (Eh)RE™ 8 Rgred® Qrdodld afr&yDSorr FKHI)0. © L e Ai

Ysboar i (Bebe Bgrecdod® bogrhgd
st 1
M % @ 7o
1 1
@ 15 @ 25

The probability of getting a total of 17 on a throw of 3 dices is
3 PREUR 5"903‘8&3}&) o 17 ‘éDBQOcSJé) ‘é)oe,r’ésé

17 17

() 376 @) Tos
1 17
Q)L 5 @ 73

A bag contains 4 Green, 6 Black and 7 White balls. If one ball is drawn from the bag at
random, the probability that it is either a black or a white ball is
2. LoD 4 DY, 6 Dy, 7 B po&HesTaD. 8 Vo) Wod i ymyson™ 2.8

2082 8W5% ©b dubd Sar 8yl es Gbg WogTrngd

42 I

(1) 3g9 @ 717

11 13

A 717 @ 17
24
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SECTION -C
Communication Ability

Questions : 50
PART -1
Choose the correct meaning of the word given :

151. Humongous

(1) funny (2) enormous

(3) marvellous (4) full of variety
152. Queasy

(1) nauseous (2) funny

(3) trembling (4) disorderly
153. Cogent

(1) agent , - (2) convincing

(3) active (4) co-worker

154. Paramount

(1) ahuge para (2) permanent

(3) supreme (4) mountains described in a para
155. Thwart

(1) convert (2) prevent

(3) pervert (4) thrust

156. Arduous
(1) untidy (2) . excess
(3) skilled (4) difficult

Fill in the blank choosing the correct word :

157. The workers were delighted as their pay scales were revised
(1) respectively (2) retrospectively
(3) retrogressively (4) redundantly

158. Due to his corrupt practices, the officer was

(1) promoted (2) demoted
(3) rewarded (4) praised
159. One who is determined to exact full vengeance for wroﬁgs done to him is
(1) virulent (2) usurer
(3) vindictive (4) imposter

160. One who does not care for literature or art is .
(1) illiterate (2) primitive
(3) a philistine (4) abarbarian
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PART -2
Choose the correct answer :

Which was the first commercially available computer ?
(1) ENIAC (2) EDSAC
(3) UNIVAC (4) Markl
In FDM, every user uses

(1) same frequency band

(2) different frequency bands

(3) a frequency band which is assigned at random
(4) multiple frequency bands

Group of instructions that directs the computer is called

(1) storage (2) memory (3) logic (4) program
An ISP is an ;

(1) Internet Service Provider (2) Internet Service Producer

(3) Internet Selection Provider (4) Internet Service Product

The most powerful type of computer is called .

(1) amicro computer (2) a mini computer

(3) amainframe computer (4) a super computer

The expansion for the abbreviation GDP, an important measure of economy, is
(1) Growth Development Project (2) Growth in Domestic Production
(3) Gross Domestic Product (4) Goods Demand Projection

The market for noble metals like Gold and Silver is called

52RD61

(1) Bullion Market _ (2) Bullish Market
(3) Stock Market (4) Capital Market
As a result of disciplinary action, when an employee is asked not to come to work pending
enquiry, it is called

~ (1) termination (2) suspension
(3) leave (4) shut off
An organization’s involvement within the community is called
(1) outreach (2) outrider
(3) interact ‘ (4) intervene
The availability of liquid assets to a market or company is called
(1) liquidate : (2) liquidity
(3) liquidize (4) liquid
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171

172.

173.

174.

175,

176.

177.

PART -3
Choose the correct answer :

A : *“He never does a stroke of work in the house.”
B: “Well, may be no one asked him.”

‘B’ implies that ‘A’ is
(1) harsh (2) unfair
(3) angry (4) irritated

Change the following into active voice :
You and he were seen by her.

https://www.freshersnow.cbm/

(1) She saw you and him. (2) She saw both of you.
(3) She had seen you and him. (4) She saw both of them.

If I agree to your proposal, I will be backing the wrong horse.

The underlined phrase means
(1) gambling (2) unfortunate
(3) fortunate (4) prosperous

“Was this the sort of thing you wanted ?”

The tone of the speaker in the above sentence is
(1) accusing (2) rude
(3) polite (4) cheerful

The subject is held over till the next meeting.
The underlined phrase means
(1) postponed (2) dismissed (3) taken care of

A : *“Can you explain this theory to me ?"

B: “Why ? Are you afraid of failing in the exam again ?”
In this conversation ‘B’s’ attitude is

(1) helpful (2) scomnful

(3) courteous (4) concerned

A :  “Did the resolution get the approval ?”

B: *“It was called in question by many.”
‘B’ implies that many

(1) approved the contents

(2) doubted the contents

«(3) thought it a model question paper

(4) framed the resolution along with a questionnaire
27
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Fiil in the blanks with the appropriate phrase/verb/preposition :
178. They decided to rest the shade of the tree before resuming their walk.
(1) on i (2) below
3) underneath (4) in
179. They watched the impressive tableau pass
(1) away (2) by
(3) on (4) wup
180. Something shou]d be done unemployment.
(1) for (2) in
(3) with (4) about
181. Whom are you for ?
(1) waiting ; (2) awaiting
(3) waiting on (4) receiving
182. His body has there under suspicion.
(1) lain ‘ : (2) laid
(3) lied (4) lost
183. After heavy rains in the catchment areas, a river might several feet.
(1) elevate ° (2) raise

(3) rise (4) grow

184. The vice chairman had to conduct the meeting as the chairman did not

(1) turnin (2) turnup

(3) turnout (4) turnoff
185. It’s time you to some work.

(1) gotin (2) got off

(3) gotdown (4) getup
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187.

188.

189.

190.
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PART -4
Read the following passage and answer questions 186-190.

There was silence. The rush of water so constant that the sound receded into the
deep recesses of the mind and so faded from the conscious. Birds chirped in different
octaves. The rain came in a downpour adding to the music of nature.' The orchestral
composition was completed as the wind ruffled through trees.

What is remarkable in this sequence is that the sounds were not man-made. The
comforting murmurs of nature lulled the mind into deep meditation. Then I opened my
eyes. The mountain of Machchu Pichchu was behind me. Wyna Picchu was to my side,
and Puttucursi right in front shaped like Mt. Kailash. Of course there was no snow. A long
fold of mountain was like Ganesha’s trunk. The sacred river Urubamba sped along in its
long journey — embracing the mountain at the foot, following its contour, then on around
Wyna Picchu, racing to join the Amazon river — tumbling down 8000 feet, saddling South
America and then merging with the Atlantic Ocean on the East coast.

Cusco was the heart of the Inca empire. It retains its pristine charm inspite of a
stream of tourists. The tiled roof tops, narrow streets and little balconies dotting the
buildings add to the charm. We stayed at the Monesteria Hotel, which is an original old
Spanish Monastery. The feeling of belonging to a bygone era continued even as we left
the hotel and stepped into the small square where colourfully dressed Inca woman awaited
us with a child and a [lama to be photographed.

Which mountain specifically referred to by the author did not have snow ? _
(1) Mt. Kailash (2) Puttucursi (3) Machchu Pichchu(4) Wyna Picchu

Which river is described as sacred in the passage ?
(1) Amazon (2) Ganga (3) Missisipi (4) Urubamba
Which four sounds constituted Nature’s orchestra according to the passage ?

(1)- Roar of Atlantic, snow fall at mountain, sound of waterfall and chanting at monastery.

(2) Wind through mountain, flight of birds, water stream and falling of leaves.

(3) River crashing at mountain foot, confluence of river into ocean, rustling of dress and
clicking of camera.

(4) The sound of water, chirping of birds, rains and the wind ruffling through trees.

What does the expression. ‘it retains its pristine charm’ mean ?
(1) It retains its entertainment value.

(2) It retains its beautiful charm.

(3) It retains its unspoiled old charm.

(4) It retains its modern charm.

What does the expression, ‘Birds chirped in different octave’ mean ?
(1) Birds voices pierced the silence of the valley.

(2) Birds voices could be heard at various frequencies.

(3) Birds voices sounded like cacophony.

(4) Birds tweeted to each other aimlessly.
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Read the following passage and answer questions 191-195:

My childhood was, on the whole, happy and straight forward, and 1 felt affection for
most of the grown-ups with whom 1 was brought in contact. I remember a very definite
change when 1 reached what in modern child psychology is called the ‘latency period’. At
this stage, 1 began to enjoy using slang, pretending to have no feelings, and being
generally ‘manly’. [ began to despise my people, chiefly because of their extreme horror
of slang and their absurd notion that it was dangerous to climb trees. So many things were
forbidden to me that I acquired the habit of deceit in which 1 persisted upto the age of
twenty one. It became second nature to me to think that whatever 1 was doing had better
be kept to myself and I have never quite overcome the impulse to concealment which was
thus generated. 1 still have an impulse to hide what 1 am reading when anybody came into
the room, and to hold my tongue generally as t0 where 1 have been, and what I have done.
It is only by a certain effort of will that 1 have overcome the impulse, which was generated
by the years during which I had to find my way among a set of foolish prohibitions.

The years of adolescence Were to me very lonely and very unhappy. Both in the life
of the emotions and in the life of the intellect, I was obliged to preserve an impenetrable
secrecy towards my people. My interests were divided between sex, religion and
mathematics.

What did the author acquire in his adolescence ? '
(1) Good habits (2) Thebad habit of drinking
(3) The habit of deceiving people (4) The bad habit of smoking

From where is the expression “Latency period’ borrowed ?
(1) Adult psychology

(2) Child psychology

(3) Educational psychology

(4) Abnormal psychology

How did the author acquire the *habit of deceit’ ?

(1) People hated him.

(2) Because he was not permitted to do many things which he wanted to do.
(3) Hewas lonely.

(49) Noone sympathized with him.

How was the author during the period of adolescence ?
(1) Lonely but not unhappy.

(2) Lonelyand unhappy.

(3) Unhappy but by no means lonely.

(4) Very friendly and very open.

Where did the author maintain secrecy 2

(1) In emotional but not intellectual life.

2) In intellectual but not emotional life.

3) In emotional and intellectual life.

(4) Neither in intellectual nor in emotional life.
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196.

197.

198.

199.

200.

Read the following passage and answer questions 196-200.

When you first arrive in a new culture, there is a period of confusion that comes

from the new situation and from lack of information. It leaves you quite dependent and in

need of help in the form of information and advice. The second state begins as you start to
interact with the new culture. It is called the stage of small victories. Each new encounter
with the culture is fraught with peril. It is preceded by anxiety and information collection
and rehearsal. Then the event occurs and you return home either triumphant or defeated.
When successful, the feelings are very much as though a major victory has been won. A
heightened roller coaster effect is particularly characteristic of this stage. Once some of
the fundamentals of life are mastered, there is time to explore the new culture. This is the
honeymoon stage of wonder and infatuation. In it there is heightened appreciation for the
new, the different, the aesthetic. Depending on the degree of cultural immersion and
exploration, it may continue for a considerable period of time.

After a while, a self correction takes place. No honeymoon can last forever. Why in
the world would anyone do it that way ? Can’t these people get their act together ? Now
the deficits seem glaringly apparent. Finally, if you are lucky enough to chart a course
through these stages and not get stuck, there is a rebalance of reality. There is the capacity
to understand and enjoy the new culture without ignoring these features that are less
desirable.

When does one acquire the capacity to understand and enjoy new culture ?
(1) When one is willing to accept the new culture uncritically.

(2) When one goes through various stages of assimilation.

(3) When one is infatuated with the new culture.

(4) When one gives up old culture.

How many stages of adaptation are described before moving on to the new culture
finally ?
(1) Four (2) Three 3) Two (4) Five

When does one go through a critical questioning phase before moving on to the new
culture ? :

(1) At the honeymoon stage (2) At the initial stage

(3) At the final stage (4) At the second stage

Which stage of cultural adoption is comparable to a roller coaster ride ?
(1) . When you interact with the new culture. :

(2) While experiencing the honeymoon stage of the new culture.

(3) While being critical of the new culture.

(4) When you first arrive in a new culture.

At which stage of one’s entry into the new culture, is one likely to feel quite dependent ?
(1) At the stage of interaction with the new culture.

(2) At the initial stage.

(3) Atno stage.

(4) At all stages.

31




https://lwww.freshersnow.com/



	TSICET-2016- Question Paper -1.pdf (p.1-15)
	TSICET-2016- Question Paper -2.pdf (p.16-22)
	TSICET-2016- Question Paper -3.pdf (p.23-32)

